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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2018 

 

Subject Name : Basic Electronics Engineering  
 

Subject Code :2TE02BEE1     Branch: Diploma (All) 

    

Semester :2          Date : 04/05/2018   Time : 10:30 To 01:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  How many electrons are there in the valance orbit of a silicon atom within a 

crystal? 

(A) 4 

(B) 8 

(C) 0 

(D) 10 

 

 b)  Frequency in D.C. voltage is ……. Hz. 

(A) 5 

(B) 10 

(C) 25 

(D) 50 

 

 c)  Ratio of collector current IC and emitter current IE in common base configuration 

is known as …….. 

(A) A.C. Current gain 

(B) D.C. Current gain 

(C) A.C. Voltage gain 

(D) D.C. Voltage gain 

 

 d)  The reverse current in a diode is of the order of ………………. 

(A) kA 

(B) mA 

(C) μA 

(D) A 

 

 e)  A Zener diode has ……….. 

(A) one PN junction 

(B) two PN junctions 

(C) three PN junctions 

(D) none of the above 

 

 f)  Full wave center tap rectifier contains…….. diodes. 

(A) 2 
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(B) 3 

(C) 4 

(D) 5 

 g)  What is the tolerance of resistor having color code Brown -Black - Blue –Gold? 

(A) +/-5%   

(B) +/-10%    

(C) +/-20%   

(D) +/-1% 

 

 h)  A transistor has how many doped regions? 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

 

 i)  Charge of the electron is…………… 

(A) 1.602x10
-19

 C 

(B) 1.602x10
-19

 A 

(C) 1.602x10
19

 C 

(D) 1.602x10
19

 A 

 

 j)  Rectifier is used in circuit to…………… 

(A) Convert A.C. into D.C. 

(B) Convert D.C. into A.C. 

(C) Convert fixed D.C. to variable D.C. 

(D) None of above 

 

 k)  Give full form of PIV for diode. 

(A) Positive Inverse Voltage 

(B) Pick Inverse Voltage 

(C) Positive Inverse Variable 

(D) Pick Inverse Variable 

 

 l)  In TPDT switch no of pole is …………. 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

 

 m)  Relay is …………… operated device. 

(A) Current 

(B) Voltage 

(C) Power  

(D) Frequency 

 

 n)  A reverse-biased PN junctions has.. ……… 

(A) A net electron current 

(B) A net hole current 

(C) A very narrow depletion layer 

(D) Almost zero current 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Give Classification of resistor. Explain any one classification in detail. 07 

 B Give types of capacitors. Explain any three in detail. 

 
07 
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Q-3  Attempt all questions (14) 

 A What is relay? Explain working principles of relay. Give application of relay. 07 

 B List types of switches. Explain any three of them in detail.  07 

    

Q-4  Attempt all questions (14) 

 A What is Connector? Give types of connector and give specification of it. 07 

 B Draw block diagram of Rectifier. Explain half wave rectifier with circuit diagram 

and wave form. 
07 

    

Q-5  Attempt all questions (14) 

 A Explain Conductor, Semiconductor and Insulator with the help of energy band 

diagram. 
07 

 B What is a Trivalent element? Explain P-type semiconductor with proper figure. 07 

    

Q-6  Attempt all questions (14) 

 A Explain PN Junction diode as a forward bias and draw characteristics of it. 07 

 B Explain formation of depletion region in PN junction diode. 07 

    

Q-7  Attempt all questions (14) 

 A Draw and Explain center tap full wave rectifier with its waveform. 07 

 B What is filter circuit? Give types of filter. Explain any one filter circuit in detail. 07 

    

Q-8  Attempt all questions (14) 

 A Draw and explain three configurations of a transistor. 07 

 B Derive relation between αdc  and βdc 07 

    
 

 

 

 

 

 

 

 

 

 

 

 



Page 4 of 6 

 

ગજુયાતી 

Q-1  નીચેના પ્રશ્નો ના જલાફો આ઩ો.  (14)  

 a)  સ્પટિકની અંદય સિલરકોન અણનુી િયંચનાની ભ્રભણકક્ષાભા ંકેિરા ઇરેક્ટ્રોન હોમ છે ? 
(A) 4 
(B) 8 
(C) 0 
(D) 10 

 

 b)  D.C. લોલ્િેજ્ની આવસૃત  ……. હિટઝ છે. 
(A) 5 
(B) 10 
(C) 25 
(D) 50 

 

 c)  કોભન ફેઇઝ કન્ફપયગુયેળનભા કરેક્ટ્િય પ્રલાહ IC અને એસભિય પ્રલાહ IE ના ગણુોત્તયને.........કહ ેછે.  
(A) A.C. કયંિ ગેઇન 
(B) D.C. કયંિ ગેઇન 
(C) A.C. લોલ્િેજ ગેઇન  
(D) D.C. લોલ્િેજ ગેઇન 

 

 d)  ડામોડભા યીલટિ કયંિની ટકિંભત ...... ભા હોમ છે.  
(A) kA 
(B) mA 
(C) μA 
(D) A 

 

 e)  ઝેનય ડામોડને  ............. છે. 
(A) એક PN જકંળન 
(B) ફે PN જકંળન 
(C) ત્રણ PN જકંળન 
(D) એક ઩ણ નહી 

 

 f)  ફૂરલેલ યેક્ટ્િીપામય ભા ........ ડામોડ હોમ છે.  

(A) 2 

(B) 3 

(C) 4 

(D) 5 

 

 g)  બ્રાઉન,બ્રેક, બ્લ,ુ  ગોલ્ડન કરય કોડ લા઱ા અલયોધ ભાિે િોરન્ફિટ શુ ંછે?   
(A) +/-5%   
(B) +/-10%    
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(C) +/-20%   
(D) +/-1% 

 h)  એક રાન્ન્ફઝસ્િયભા કેિરા સભશ્રીત સલસ્તાયો હોમ છે ? 
(A) 1 
(B) 2 
(C) 3 
(D) 4 

 

 i)  ઇરેક્ટ્રોન નો ચાર્જ.................. છે 
(A) 1.602x10-19 C 
(B) 1.602x10-19 A 
(C) 1.602x1019 C 
(D) 1.602x1019 A 

 

 j)  િકીિ ભા યેક્ટ્િીપામય ............ ભાિે લ઩યામ છે.  
(A) A.C. ને D.C. ભા પેયલલા  
(B) D.C.ને A.C. ભા પેયલલા 
(C) પીક્ટ્િ D.C. ને લેયીએફર  D.C. ભા પેયલલા 
(D) એક ઩ણ નહી 

 

 k)  ડામોડ ભાિે PIV ન ુપરૂૂ નાભ આ઩ો. 
(A) ઩ોઝીિીલ ઇન્ફલિટ લોલ્િેજ 
(B) ઩ીક ઇન્ફલિટ લોલ્િેજ 
(C) ઩ોઝીિીલ ઇન્ફલિટ લેયીએફર 
(D) ઩ીક ઇન્ફલિટ લેયીએફર 

 

 l)  TPDT સ્લીચભા ...........઩ોર હોમ છે. 
(A) 2 
(B) 3 
(C) 4 
(D) 5 

 

 m)  યીરે ............... િચંાલરત ટડલાઇિ છે. 
(A) કયંિ 
(B) લોલ્િેજ 
(C) ઩ાલય 
(D) ફ્રીકલળંી 

 

 n)  યીલિટ ફામસ્ડ PN જકંળનને........... હોમ છે. 
(A) નેિ ઇરેક્ટ્રોન પ્રલાહ  
(B) નેિ હોર પ્રલાહ  
(C) ખફૂજ િાકંડુ ડેપ્રેળન રેમય  
(D) રગબગ શનૂ્ફમ પ્રલાહ 
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નીચેના Q-2 to Q-8 પ્રશ્નો માાંથી કોઈ પણ 4 ના જવાબો આપો.  
Q-2  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A અલયોધન ુલગીકયણ કયો. કોઇ ઩ણ એક લગીકયણ સલસ્તાયભા િભજાલો . 07 

 B કે઩ેિીિય ના પ્રકાય રખો. કોઇ ઩ણ ત્રણ સલસ્તાયભા િભજાલો . 07 

    

Q-3  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A યીરે એિરે શ?ુ યીરેનો કામટ સિધધાતં િભજાલી તેની ઊ઩મોગીતા રખો. 07 

 B સ્લીચના પ્રકાય રખો. કોઇ ઩ણ ત્રણ સલસ્તાયભા િભજાલો . 07 

    

Q-4  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A કનેકિય એિરે શુ? કનેકિય ના પ્રકાય રખી તેના ભાિેના સ્઩ેળીપીકેન રખો.  07 

 B યેક્ટ્િીપામયનો બ્રોક ડામાગ્રાભ દોયો. હાપલેલ  યેક્ટ્િીપામય િકીિ ડામાગ્રાભ અને લેલપોભટ િાથે 
િભજાલો. 

07 

    

Q-5  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A એનજી ફેન્ફડ ડામાગ્રાભની ભદદથી લાહક, અધટલાહક, અને અલાહક િભજાલો. 07 

 B સત્ર-િમંોજીત તત્લ એિરે શુ?ં P-પ્રકાયના અધટલાહકને મોગ્મ આકૃસત િાથે િભજાલો.  07 

    

Q-6  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A PN જકંળન ડામોડ ભાિે પોયલડટ ફામિ િભજાલી તેની કેયેક્ટ્િયીિીક્ટ્િ દોયો.  07 

 B PN જકં્ટ્ળન ડામોડભા ંડેપ્રેળન રેમયની યચના િભજાલો. 07 

    

Q-7  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A િેન્ફિય િે઩ ફૂરલેલ યેક્ટ્િીપામય િકીિ ડામાગ્રાભ અને લેલપોભટ િાથે િભજાલો.  07 

 B પીલ્િય િકીિ એિરે શુ?ં પીલ્િય નાપ્રકાય રખો. કોઇ ઩ણ એક પીલ્િય િકીિ સલસ્તાયભા િભજાલો.  07 

    

Q-8  નીચેના પ્રશ્નો ના જલાફો આ઩ો. (14) 

 A રાન્ન્ફઝસ્િયની ત્રણ કન્ફપયગુયેળન દોયો અને િભજાલો. 07 

 B αdc  અને βdc લચ્ચેનો િફધં તાયલો. 07 

    

 

 

 


